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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the

detailed instructions given therein.

MS: T YT S At (200) 37hi I € U THH AR (4) TS ¢ | AT i ITH GHIR U9 o 3T
3T 53 T foreget Feenl o SR ST 8 |
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SECTION -1
g -1

Note : This section consists of two essay type questions of twenty (20) marks each, to be

T

answered in about five hundred (500) words each. (2‘>< 20 = 40 marks)
T T | SfH-9 3{ehl & I [erurcHe U9 € | Ucdsh o1 ST oI uier |/ (500) vssi o
JTUTRTTE | (2 % 20 = 40 3F)

Define the term ‘Training and Development’. Explain the importance and methods of
training and development.
UTRTEAOT T ForehTe” i OIS oY | STRTe0T Wor foehTe o Hewal Uar aRishi ohi el o |
OR / Jgar
What are the major functions of a distribution channel ? Briefly explain each of them.
TeRoT Tt & i 1 -1 § 7 3 WaH! Wi § v Y |
OR / tgar
What are the different conflicting views on capital structure ? Describe the Modigliani
and Miller theory on relationship between capital structure and value of firm.
T AT W et Rt Heder - € 2 Ueh Wl Ud e S 6 ged §
TR o AN H AR o HeR MHaT= &1 a0 ity |
OR / st¥at
What are the advantages and disadvantages of free international trade ? What is an
infant industry argument in favour of trade protection ? Explain.
e RIS TR o 97 oY F gIi-11 & 2 SR UReT0T & UeT H Sed ST o 1 € ?
ST Y |
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Explain the term “Industrial Relations’. Discuss its importance.
T o AT Y | Tk Tad i [oaeT hiteT |

OR / 3rgar
What are the pricing methods ? Explain which pricing strategies are adopted for new
products.
e fIROT o faf= YR 1 € 2 3 SeTal o Hod [eiRoT T0Taa bl ST hite |

OR / st
Describe the important elements of forward contracts, futures and options. How can
they be used as risk _management tools ?
TR 3T, e ot (R T foshedl o Hewoqol ol 1 Ju hiteTT | el SHTEH
TR ST 3 O TR W ST fehe ST Wb 2

OR / 3rgar
What do you mean by foreign exchange rate ? How this exchange rate is determined ?
Briefly explain the main determinants of foreign exchange rate in India.

ataﬂaﬁqﬁw%?ag%lﬁmaéa—g & ? 9 | forsett ot e

o e Heehi hl AT T |
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Note :

J-1710

SECTION - 11
TS - 11
This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three
questions from it. Each question carries fifteen (15) marks and is to be answered in
about three hundred (300) words. (3 x 15 = 45 marks)
TH GE U U Uk Tohre / fomiostal @ dim (3) TR € | 319l i shael Ush Ufeseh ShTS /
TorToITaT =1 e 38T o AT USHT BT ST AT € | Uedeh U Ugg (15) 37ehi T € o ST
IR T A Y (300) VT H R E | (3 x 15 = 45 3i%)

Elective — 1
fawea - 1
Explain the term ‘Collective Bargaining’. Discuss the pre-requisite conditions for
Collective Bargaining.

ek LTSI 163 i AT Y | Yok HIGeTST hi d STATAHATS bl TTEwT HITT |
What do you mean by workers participation in Management ? Discuss the conditions
for its success.

T T ShHEIET hi GEHITAT d STehT ST 39T € ? SHeh! Aheldl hl e i foere T
HITTT |

Explain the concept of Industrial Conflict. Discuss the different causes of industrial
conflicts.

ST FaY oh! foremeR shi SATeAT oY | 3{I=iiTeh Gos oh fof3=T ShRUT i foeemT shifsu |
OR / et
Elective — 11
fopeT - 11
WhE(iit irs; services marketing ? In what ways it is different from marketing of tangible
oods |
S Fao T 2 T g oo o v e 2

What is “Psychographics” 7 In which marketing context such a segmentation can be
useful ?

ST HAIeRT o1 & 2 fo0ur o fohd Tg9 & UHT forwTsi oieaeh &l Gehdl ¢ ?

Discuss various methods of determining advertising budget ? Which method,
according to you, uses the most logical approach ?

fos st ot feiia e o fafi= Surl st smen ST | s SFaR i 91 3™ 39
feom H Tk Wt gfeeahivT i SO & 2
OR / reran

Elective — IIT
fawea - III

How is risk-return relationship explained by Capital Asset Pricing Model (CAPM) ?
How does Arbitrage Pricing Theory (APT) overcome the shortcomings of CAPM ?

Geit afegrat go FHeRoT Geel (W.UW.UH) §RT ST Ufawhel o Gl i 6 TR e
Y ST Thel & 7 SFRAUH o e fasT= (T2 fhe wehR |.u e, it i & g3
FIATE ?

Do dividends have a bearing on share valuation ? Discuss the models which assume
that investment and dividend decisions are related with each other.

T AT T IR -1 O U1 TSl & 2 37 HiSHl hi SR iU S 98 I € foh
fareT 3R crerer Fog WER gEtd € |
10




What are the costs associated with inventory management ? Illustrate the use of
Economic Order Quantity.

TG Jare ¥ i 9 AN St € 7 MHaedt TSt 9 % UEhT S WIS W
T |

OR / &gar

Elective — IV

fawea - IV
Briefly explain the major Regional Trade Agreements. Are Regional Trade
Agreements trade promoting or trade diverting ?
T 1 SR a1 Sl T H T HITT | T &1 SATIR 3164 IR Sl Yad i
£ 31E SR % AT i € 2
Critically examine the challenges and emerging opportunities for future global
business.

et AfFereh SR o T I 3T SR TR T THNRIeHh Jodih iy |

What is exchange rate regime ? Differentiate between fixed exchange rate regime and
fully flexible exchange rate regime.

fafma 33 v == & 7 Ffvaa fafe & o 3R qoiean ofeshien fafme 3 omae §
IR E?
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SECTION - 111

g - 11l
Note : This section contains nine {9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 marks)
e TH TS § TW-g9 (10-10) 37T F = (9) T & | T U 1 I SRTHT T (50) =T H
AT | (9 x 10 = 90 3i®)
6. Briefly explain the concepts of factor productivity, factor intensity and returns to

scale under production analysis.

SAEEhdT faeelsoT 3 STH ScaTeehdl, disidl 3T UHM i TReisd o hLehi sl & | ATl

7. What is ‘Organisational Behaviour® ? Discuss its significance.
GISATcHS S8R W% ? 3Yh HETd % foae T & ST |
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8. What is Job Analysis 7 Discuss its methods.
SHTA-foTgeIoT 77 € ? ! T iaal ohi foraeT shifsy |

9. Describe the strategies to be adopted to expedite the recovery of receivables.

T ol St o 2 faer o ToT Tt 81 STt T 31 a0 Shitg |
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10. Distinguish between Marketing Information System and Marketing Research.
U T ToTIett 3R foauTT SFEwem o e o 3 i T i |

11. What are the objectives of Production Management ? Discuss the 5 P’s of Production
Management.

IEAE TEa o 3299 T € ? SR Ue=e o U T whl fereramT it |
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12. The weekly wages of 2000 workers in a factory is normally distributed with a mean

of Rs. 200 and a standard deviation of Rs. 20. Estimate the lowest weekly wages of
the 200 highest paid workers and the highest weekly wages of 200 lowest paid
workers. [Given P (1.28) = 0.90].
TS FHREH H 2000 ST 1 ITHN leh S0 FHRITET 200 T3 & 717 31 20 T9F &
Tk foraer | SieT STt & | 200 STad I aTet ST § | =Jas ATeiesh 9o I et o1
AT SHINTY SR 200 =JATH S STet SIHRT H I STha™ ATlesh da I Sl ST Tl ShieTd |
(U< P (1.28) = 0.90]

13. Discuss the steps involved in the selection of best strategy.

TarH T8 I § 3T ot Ug1 sl =] Hitad |
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14. Examine the concept of corporate governance. Give the examples of corporate
misgovernance.

FHTIRE Ye=¥ Tt SRV ST YoATeh HITSTT | FHIURE FIE h SR JIT |

SECTION -1V
s -1V

This section contains five (5) questions of five (5) marks each based on the following
passage. Each question should be answered in about thirty (30) words. (5 X 5 = 25 marks)

39 de ¥ fFeafafad uiess W Seia uier (5) T99 & | U U9 T 3TR e | (30) vTss) o
3T & | T R Ui (5) SR E | (5 x 5 =25 3iw®)

There were a series of studies conducted near Chicago at Western Electric’s
Hawthorne Plant between 1927 and 1932. The research originally sponsored by General
Electric was conducted by Elton Mayo and his associates. Mayo was a faculty member and a
consultant at Harvard. The first study involved manipulating illumination for one group of
workers and comparing their subsequent productivity with the productivity of another group
whose illumination was not changed. Surprisingly, when illumination was increased for the
experimental group, productivity went up in both groups. Productivity continued to increase
in both groups, even when the lighting for the experimental group was decreased. Not until
the lighting was reduced to the level of moonlight did productivity begin to decline (and
General Electric withdrew its sponsorship).

Another experiment was established a piece work incentive pay plan for a group of
nine men assembling terminal banks for telephone exchanges. Scientific management would
have predicted that each man would try to maximize his pay by producing as many units as
possible. Mayo and his associates, however, found that the group itself informally established
an acceptable level of output for its members. Workers who overproduced were branded
“rate busters” and underproducers were labelled “chislers”. To be accepted by the group

J-1710 21 P.T.O.



workers produced at the accepted level. As they approached this acceptable level of output,
workers slacked off to avoid overproducting.

Other studies, including an interview program involving several thousand workers led
Mayo and his associates to conclude that human behaviour was much more important in the
workplace than had been previously believed. In the lighting experiment, the results were
attributed to the fact that both groups received special attention and sympathetic supervision
for perhaps the first time. The incentive pay plans did not work because wage incentives were
less important to the individual workers than was social acceptance in determining output. In
short, individual and social processes played a major role in shaping worker attitudes and
behaviour.

Rescarchers monitored how productivity changed as a result of changes in working
conditions. The Hawthome studies and subsequent experiments lead scientists to the
conclusion that the human element is very important in the workplace.

RIRAT & T7ohe A% Seifageh erdi wie | 1927 3R 1932 § &g 3ed g ™ | 39
STEHM, S SR Telfageh 50 UTANSTd o, 31 Ueed AIE! 7R 39k Tealnmal 511 foha T o | A
TRAE Tova formimerd H TitheR Ue TRIHRET & | T 3T § SiHehl o U Wi o (10 Yo ol Terg
AT IO o7 | 3R R 3 T 1 SEehaT Y qorl 39 T & AR § bt 1 Fe for st
g I A BT T A1 | T TRl ¢ foh e o 1T FehTRT 3t T T A Qi1 S
1 ST H 15 g5 | 1 BT bt ScIgehell § FE= Jfeg it T8, Ta ot STa e T o ehmet
T S Y ST TN &7 | STal Tk TRTRT Sl AT ol AL o TR ek T8l HeTal T O Scaaehdl 3 &1
TRE g% (3R SR TATdZeh = 3T TTisTehall aad o o) | . o

TS 3T TR Tohall T, FoTeh STl Shrd-SROT O WA Sl A ST, ST STIthie Terresii &
A Sl 1 e 9, % o foham T | ik weree | 9 sttt S a6 g st
3ffeeh ¥ ST ISl T SR HYeh 310 o | AT ghg HET Ao | TR AT SR Iqh
Tt 3 e o 39 e = ST WSl o T 3THIuNeh ® ¥ Scre o1 TR e e ferar |37
ST, FTeT STE 1T ScTe T, i “S0N Hehar” 31 AT faT T 31K 39 Al i “aiears”
TR 39 W 3R TR § 1 IR 6T | T8 H W I i o6 10 56 9 - @
W%Wﬁ 1 SeuTe Toham | S & 3 SAfort Wi TR o TSIl Uge aut o @it Ug ST dlish 31
[T T 8l ST |

3T T, 9 2 B9 YThT & WIRehR 1 Shrishd Snoel o, e " 3R 396
TEAINTAT 31 36 U™ TR TgaTaT o 1 T TR A 798K 3 374 Hewequl ¢, Il o 369 g6l el
THST ST A1 | FeRT-SET W UROTH g q27 § Sl T 1o WS et AR & & W # A%
forere e foam T o SR 3T WeTgfude TEeeT R AT | IR0 § WA Rl =, SRiih
AH-AIHE WIS AT i 3TUeT Scaeehel MERT § %A § | geiT H, oafees ud
HTITTeR UishaTd SiHeh o gfteehivT 3R FaeR i o o Glcal gl
. SRR T T8 ST & foh rd-STowel § URe | Scgehel | fohe1 URas 3
T | ST T STR 3k UV o FAMT W SRk 39 Ry W Ugd § o i et W A
T HeTUT & |
15. Explain the contributions of Elton Mayo in the area of Management.

Yo o &7 | Uez 1A ol 7 bl oAl Y |
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16. How can productivity be increased according to Mayo’s experiment ?

T % TR o SR ST hdf Tt ST Fehell & 2

17. Where and under what conditions did Elton Mayo conduct his experiments 7

Toed JIET = 3194 YA el 3R fore afifeataat o sraia fond 2

18. ‘What is the experiment regarding Work Incentive Pay Plan ?
SHTE-UROT U A T A FERT 1 ?

19. Who are called ‘rate busters’ and ‘Chislers’ ?

YUY HiTehal R “iEarsT fohe st ST o ?
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